



Karaka 2026 Results – Vendor Pack

Karaka 2026 Final Statistics (as at 2 February)

	BOOK 1 TOTAL	BOOK 2 TOTAL	SUMMER SALE TOTAL	COMBINED TOTAL
Aggregate	\$80,010,000	\$12,614,000	\$3,462,500	\$96,086,500
Average	\$184,781	\$63,070	\$29,594	\$128,115
Median	\$140,000	\$56,250	\$20,000	\$88,750
Clearance	83%	81%	85%	83%
Catalogued	567	281	161	1009
Withdrawn	47	33	23	103
Offered	520	248	138	906
Passed	87	48	21	156
Lots Sold	433	200	117	750
Top Price	\$1,100,000	\$200,000	\$130,000	\$1,100,000

Karaka 2026: Book 1 Statistics (as at 2 February)

	2026 BOOK 1 TOTAL (NEW FORMAT)	2025 BOOK 1 TOTAL	2024 BOOK 1 TOTAL	2023 BOOK 1 TOTAL
Aggregate	\$80,010,000	\$76,612,500	\$80,953,000	\$70,390,500
Average	\$184,781	\$160,613	\$165,210	\$149,767
Median	\$140,000	\$110,000	\$120,000	\$130,000
Clearance	83%	81%	81%	81%
Catalogued	567	661	682	644
Offered	520	588	607	582
Sold	433	477	473	470
Top Lot	Lot 513 Sword of State - Las Brisas (B.C) \$1,100,000	Lot 345 Savabeel - Symphonic (Br.F) \$2,400,000	Lot 21 Proisir - Donna Marie (Ch.F) \$1,600,000	Lot 586 Fastnet Rock - Test the World (B.F) \$1,000,000

Karaka 2026: Book 2 Statistics (as at 2 February)

	2026 BOOK 2 TOTAL (NEW FORMAT)	2025 BOOK 2 TOTAL	2024 BOOK 2 TOTAL	2023 BOOK 2 TOTAL
Aggregate	\$12,614,000	\$9,819,000	\$11,703,500	\$11,654,000
Average	\$63,070	\$35,448	\$42,251	\$42,690
Median	\$56,250	\$25,000	\$30,000	\$31,000
Clearance	81%	78%	73%	73%
Catalogued	281	427	443	435
Offered	248	354	377	375

Sold	200	277	277	273
Top Lot	Lot 601 Embellish - Queen of Wizardy (B.F) \$200,000	Lot 855 Satono Aladdin - Sparkling Rose (B.F) \$260,000	Lot 790 Time Test - Kerre (Br.C) \$220,000	Lot 789 Proisir - Harriet Wilson (G.C) \$180,000

Karaka 2026: Final Combined Statistics (as at 2 February)

	2026	2025	2024	2023	2022	2021
Aggregate	\$96,086,500	\$86,296,500	\$92,297,500	\$82,158,500	\$74,382,500	\$60,996,500
Average	\$128,115	\$115,062	\$121,925	\$110,726	\$106,109	\$94,276
Median	\$88,750	\$80,000	\$90,000	\$80,000	\$70,000	\$62,500
Clearance	83%	80%	77%	77%	75%	82%
Catalogued	1009	1088	1125	1079	1103	918
Withdrawn	103	146	141	121	156	127
Offered	906	940	984	958	947	791
Passed	156	190	227	216	246	144
Lots Sold	750	750	757	742	701	647
Top Price	\$1,100,000	\$2,400,000	\$1,600,000	\$1,000,000	\$1,000,000	\$800,000

Karaka 2026 Combined Spend by Country (as at 2 February)

Country	2026	2025	2024	2023	2022	2021
Australia	\$45,189,000	\$33,537,500	\$42,419,000	\$38,586,500	\$24,133,500	\$16,355,500
New Zealand	\$34,356,000	\$39,242,500	\$37,199,500	\$32,431,000	\$41,332,000	\$34,947,500
Hong Kong	\$8,302,500	\$9,005,500	\$8,141,000	\$9,395,000	\$6,587,500	\$8,647,500
China	\$3,481,000	\$373,000	-	-	-	\$60,000
South Africa	\$2,245,000	\$885,000	-	-	-	-
Singapore	\$1,255,000	\$758,000	\$1,056,000	\$457,500	\$1,579,500	\$251,000
Netherlands	\$800,000	\$340,000	-	-	-	-
Ireland	\$270,000	\$90,000	-	\$160,000	-	-
Japan	\$133,000	\$30,000	-	-	-	\$300,000
Thailand	\$40,000	\$105,000	-	-	-	-
Malaysia	-	\$1,680,000	\$2,920,000	\$778,500	-	-
United Kingdom	-	\$170,000	-	-	-	\$40,000
USA	-	\$50,000	-	-	\$750,000	\$370,000
Other	\$15,000		\$260,000	\$320,000	-	\$35,000

Karaka 2026 Combined Leading Purchasers by Aggregate (as at 2 February)

Purchaser	Aggregate	Bought	Top Price	Top Lot
David Ellis CNZM (BAFNZ)	\$4,445,000	19	\$475,000	147
Chris Waller Racing / Mulcaster Bloodstock	\$3,795,000	11	\$950,000	471
KPW Bloodstock	\$3,630,000	9	\$850,000	383
Stephen Marsh Racing / Dylan Johnson Bloodstock	\$2,340,000	10	\$600,000	445
Craig Ramsay	\$2,245,000	9	\$380,000	365
Mr RA James / Mr R Wellwood	\$1,585,000	10	\$440,000	450
Bjorn Baker Racing / Clarke Bloodstock (FBAA)	\$1,545,000	6	\$475,000	124
Mulberry Racing	\$1,470,000	4	\$650,000	102

John Foote Bloodstock	\$1,390,000	12	\$260,000	537
O'Shea Charlton Racing / James Bester Bloodstock	\$1,320,000	7	\$320,000	374
Lindsay Park Racing / Dean Hawthorne Bloodstock (BAFNZ)	\$1,225,000	5	\$450,000	188
Jamie Richards / Andrew Williams Bloodstock	\$1,160,000	6	\$280,000	244
Brendon McCullum & Richardson Racing	\$1,125,000	5	\$350,000	260
Mr Sanxiong Gao / Ciaron Maher Bloodstock Pty Ltd	\$1,100,000	1	\$1,100,000	513
Byerley Bloodstock	\$1,030,000	6	\$350,000	35
Wexford Stables	\$1,030,000	8	\$260,000	334
Mr Sanxiong Gao	\$995,000	3	\$525,000	485
Go Racing / Blandford Bloodstock	\$977,000	8	\$200,000	164
Ciaron Maher Bloodstock	\$945,000	5	\$320,000	535
Forsman Racing	\$940,000	8	\$300,000	555
B2B Thoroughbreds	\$900,000	2	\$500,000	292
Gai Waterhouse & Adrian Bott / Kestrel Thoroughbreds	\$900,000	4	\$340,000	29
Astute Bloodstock (FBAA)	\$850,000	2	\$425,000	139
Mr Ryan Fownes	\$825,000	2	\$500,000	215
Barneswood Farm	\$800,000	1	\$800,000	516
Star Thoroughbreds Pty Ltd / Vin Cox Bloodstock	\$790,000	3	\$360,000	510
Patella Bloodstock Ltd	\$788,000	6	\$260,000	114
Shijiazhuang Hongtao Horse Breeding	\$780,000	3	\$550,000	259
Waikato Bloodstock	\$760,000	2	\$400,000	484
Busuttin Racing	\$750,000	5	\$220,000	218

Karaka 2026 Combined Vendors by Aggregate (as at 2 February)

Vendor	Offered	Sold	Aggregate	Average	Top Price	Top Lot
Cambridge Stud	69	65	\$11,860,000	\$182,462	\$1,100,000	513
Waikato Stud Ltd	68	60	\$7,145,000	\$119,083	\$425,000	452
Curraghmore	25	25	\$5,180,000	\$207,200	\$525,000	485
Elsdon Park	32	29	\$5,145,000	\$177,414	\$850,000	383
Wentwood Grange	40	34	\$5,060,000	\$148,824	\$600,000	394
Windsor Park Stud	41	35	\$5,020,000	\$143,429	\$600,000	445
Landsdowne Park Ltd	32	25	\$4,802,000	\$192,080	\$950,000	471
Little Avondale Stud	30	27	\$4,101,000	\$151,889	\$450,000	24
Haunui Farm	39	33	\$3,898,000	\$118,121	\$370,000	202
Trelawney Stud Ltd	21	18	\$3,702,500	\$205,694	\$600,000	94
Westbury Stud	44	30	\$3,317,000	\$110,567	\$560,000	143
Milan Park	17	14	\$3,227,000	\$230,500	\$450,000	188
Pencarrow Stud	22	20	\$2,965,000	\$148,250	\$800,000	516
Rich Hill Stud	38	25	\$2,797,500	\$111,900	\$380,000	331
Hallmark Stud	21	20	\$2,502,000	\$125,100	\$675,000	93
Carlaw Park	28	21	\$2,276,500	\$108,405	\$425,000	139
Jamieson Park	18	17	\$2,006,000	\$118,000	\$360,000	121
Riversley Park Ltd	14	12	\$1,960,000	\$163,333	\$400,000	484
Mapperley Stud Ltd	29	22	\$1,801,500	\$81,886	\$375,000	306
Woburn Farm	23	19	\$1,610,000	\$84,737	\$220,000	368

Inglewood Stud	12	10	\$1,477,500	\$147,750	\$475,000	124
Kilgravin Lodge	11	11	\$1,400,000	\$127,273	\$250,000	495
Beaufort Downs Ltd	11	9	\$1,280,000	\$142,222	\$320,000	152
Kaha Nui Farm	10	7	\$1,190,000	\$170,000	\$325,000	373
HGT Bloodstock Ltd	13	13	\$963,500	\$74,115	\$260,000	553
Phoenix Park	13	10	\$953,000	\$95,300	\$360,000	505
The Oaks Stud	10	10	\$891,000	\$89,100	\$160,000	136
Blandford Lodge	14	8	\$846,000	\$105,750	\$260,000	532
Seaton Park Ltd	17	17	\$841,000	\$49,471	\$220,000	131
Leanach Lodge Ltd	13	11	\$721,500	\$65,591	\$200,000	441
Ardsley Stud Ltd	6	3	\$680,000	\$226,667	\$300,000	336
Cambria Park	12	10	\$671,000	\$67,100	\$160,000	322
Prima Park	9	6	\$670,000	\$111,667	\$200,000	321
Grangewilliam Stud	17	13	\$537,000	\$41,308	\$120,000	800
Henley Park	5	4	\$460,000	\$115,000	\$190,000	54
Highview	16	13	\$437,000	\$33,615	\$140,000	846
Brighthill Farm	14	11	\$411,000	\$37,364	\$150,000	252
Highline Thoroughbreds	13	5	\$357,500	\$71,500	\$130,000	622
Beckam Equine	3	3	\$271,000	\$90,333	\$160,000	431
Highden Park	3	2	\$140,000	\$70,000	\$80,000	421
S. C. T. McGregor	1	1	\$130,000	\$130,000	\$130,000	958
Pegasus Lodge	1	1	\$100,000	\$100,000	\$100,000	206
White Robe Lodge	2	2	\$70,000	\$35,000	\$40,000	579
Lyndhurst Farm	1	1	\$65,000	\$65,000	\$65,000	972
Timberlee Thoroughbreds	4	3	\$36,000	\$12,000	\$16,000	849
Westend Partnership	7	5	\$35,000	\$7,000	\$13,000	967
Tui Stables	4	3	\$24,000	\$8,000	\$11,000	859
Te Aute Stud	2	2	\$20,000	\$10,000	\$10,000	1002
Platinum Bloodstock	6	2	\$15,500	\$7,750	\$8,000	1008
M. R. Wingrove	2	1	\$8,000	\$8,000	\$8,000	992
Nala Park	1	1	\$5,000	\$5,000	\$5,000	877
J. & K. Connell	1	1	\$4,000	\$4,000	\$4,000	955
Wainui Ltd	1	0				

Karaka 2026 Combined Leading Vendors by Average (three or more sold) (as at 10 February)

Vendor	Offered	Sold	Average	Top Price	Top Lot
Milan Park	17	14	\$230,500	\$450,000.	188
Ardsley Stud Ltd	6	3	\$226,667	\$300,000.	336
Curraghmore	25	25	\$207,200	\$525,000.	485
Trelawney Stud Ltd	21	18	\$205,694	\$600,000.	94
Landsdowne Park Ltd	32	25	\$192,080	\$950,000.	471
Cambridge Stud	69	65	\$182,462	\$1,100,000.	513
Elsdon Park	32	29	\$177,414	\$850,000.	383
Kaha Nui Farm	10	7	\$170,000	\$325,000.	373
Riversley Park Ltd	14	12	\$163,333	\$400,000.	484
Little Avondale Stud	30	27	\$151,889	\$450,000.	24

Wentwood Grange	40	34	\$148,824	\$600,000.	394
Pencarrow Stud	22	20	\$148,250	\$800,000.	516
Inglewood Stud	12	10	\$147,750	\$475,000.	124
Windsor Park Stud	41	35	\$143,429	\$600,000.	445
Beaufort Downs Ltd	11	9	\$142,222	\$320,000.	152
Kilgravin Lodge	11	11	\$127,273	\$250,000.	495
Hallmark Stud	21	20	\$125,100	\$675,000.	93
Waikato Stud Ltd	68	60	\$119,083	\$425,000.	452
Haunui Farm	39	33	\$118,121	\$370,000.	202
Jamieson Park	18	17	\$118,000	\$360,000.	121

Karaka 2026 Combined Sires by Average (as at 2 February)

Sire	Offered	Sold	Average	Aggregate	Top Price	Top Lot
Snitzel	3	2	\$705,000	\$1,410,000	\$850,000	265
Anamoe*	8	6	\$487,500	\$2,925,000	\$650,000	102
Street Boss	1	1	\$475,000	\$475,000	\$475,000	124
Too Darn Hot	5	2	\$397,500	\$795,000	\$475,000	455
Anders	1	1	\$380,000	\$380,000	\$380,000	490
The Autumn Sun	3	3	\$380,000	\$1,140,000	\$525,000	485
Zoustar	1	1	\$380,000	\$380,000	\$380,000	493
Ghaiyyath	2	2	\$367,500	\$735,000	\$375,000	23
Alabama Express	6	5	\$358,000	\$1,790,000	\$850,000	383
Justify	7	7	\$292,857	\$2,050,000	\$950,000	471
Toronado	8	7	\$282,143	\$1,975,000	\$800,000	516
St Mark's Basilica	2	2	\$255,000	\$510,000	\$440,000	450
In the Congo*	4	4	\$252,500	\$1,010,000	\$400,000	270
Home Affairs	9	8	\$236,875	\$1,895,000	\$475,000	147
Wootton Bassett	3	3	\$233,333	\$700,000	\$450,000	241
Russian Revolution	3	3	\$221,667	\$665,000	\$340,000	203
Artoius*	1	1	\$220,000	\$220,000	\$220,000	368
Savabeel	31	27	\$211,667	\$5,715,000	\$550,000	259
All Too Hard	3	3	\$206,667	\$620,000	\$380,000	369
Spirit of Boom	4	4	\$206,250	\$825,000	\$325,000	461
Gun Runner	1	1	\$200,000	\$200,000	\$200,000	55
Harry Angel	4	3	\$196,667	\$590,000	\$310,000	245
So You Think	12	11	\$192,273	\$2,115,000	\$450,000	410
Farnan	3	3	\$180,000	\$540,000	\$230,000	38
Satono Aladdin	62	48	\$178,042	\$8,546,000	\$500,000	292
Proisir	57	41	\$177,622	\$7,282,500	\$600,000	94
Wrote	3	2	\$170,000	\$340,000	\$200,000	441
Super Seth	44	37	\$161,757	\$5,985,000	\$675,000	93
Maurice	5	4	\$160,000	\$640,000	\$250,000	400
Sword of State	52	48	\$159,010	\$7,632,500	\$1,100,000	513
Per Incanto	30	25	\$150,320	\$3,758,000	\$375,000	415
Trapeze Artist	1	1	\$145,000	\$145,000	\$145,000	592

Pierro	4	4	\$141,250	\$565,000	\$310,000	130
Exceed and Excel	1	1	\$130,000	\$130,000	\$130,000	308
Contributer	13	11	\$127,273	\$1,400,000	\$375,000	306
Written By	2	1	\$125,000	\$125,000	\$125,000	954
Grunt	1	1	\$120,000	\$120,000	\$120,000	474
Better Than Ready	3	3	\$118,333	\$355,000	\$130,000	201
El Roca	4	1	\$115,000	\$115,000	\$115,000	989
Tassort	3	2	\$115,000	\$230,000	\$150,000	359
Almanzor	34	34	\$109,279	\$3,715,500	\$350,000	260
Pride of Dubai	2	2	\$107,500	\$215,000	\$130,000	412
Ocean Park	11	9	\$104,778	\$943,000	\$320,000	374
Shamexpress	5	3	\$101,667	\$305,000	\$120,000	82
Bivouac	8	7	\$100,000	\$700,000	\$160,000	436
Ole Kirk	1	1	\$100,000	\$100,000	\$100,000	190
Pinatubo	1	1	\$100,000	\$100,000	\$100,000	232
Sejardan*	1	1	\$100,000	\$100,000	\$100,000	734
Starspangledbanner	1	1	\$100,000	\$100,000	\$100,000	628
Ardrossan	56	51	\$97,637	\$4,979,500	\$450,000	529
Capitalist	2	2	\$97,500	\$195,000	\$100,000	305
Dundeeel	5	4	\$96,250	\$385,000	\$150,000	27
Profondo*	60	41	\$93,780	\$3,845,000	\$425,000	139
Castelvecchio	1	1	\$90,000	\$90,000	\$90,000	284
Hellbent	4	3	\$90,000	\$270,000	\$100,000	315
Sweynesse	6	3	\$90,000	\$270,000	\$110,000	812
Jacquinot*	3	3	\$86,667	\$260,000	\$150,000	109
Captivant	1	1	\$85,000	\$85,000	\$85,000	824
Wild Ruler	2	2	\$85,000	\$170,000	\$90,000	469
Exceedance	1	1	\$80,000	\$80,000	\$80,000	235
Noverre	42	37	\$75,068	\$2,777,500	\$200,000	194
I Am Immortal	1	1	\$70,000	\$70,000	\$70,000	658
State of Rest*	4	4	\$69,375	\$277,500	\$100,000	533
Redwood	13	10	\$68,700	\$687,000	\$160,000	86
Hello Youmzain	39	28	\$67,857	\$1,900,000	\$320,000	535
Embellish	7	6	\$67,750	\$406,500	\$200,000	601
Zousain	3	2	\$67,500	\$135,000	\$80,000	501
War Decree	4	4	\$66,250	\$265,000	\$120,000	44
Shocking	7	7	\$65,286	\$457,000	\$160,000	762
Cosmic Force	2	2	\$62,500	\$125,000	\$75,000	735
Brutal	1	1	\$60,000	\$60,000	\$60,000	597
Russian Camelot	1	1	\$60,000	\$60,000	\$60,000	689
North Pacific	2	2	\$57,500	\$115,000	\$90,000	51
Circus Maximus	12	10	\$56,950	\$569,500	\$160,000	337
Acrobat	4	3	\$56,667	\$170,000	\$60,000	963
Kermadec	1	1	\$55,000	\$55,000	\$55,000	723
Tarzino	15	9	\$51,778	\$466,000	\$80,000	344
Staphanos	4	3	\$51,000	\$153,000	\$140,000	64
U S Navy Flag	4	3	\$50,333	\$151,000	\$75,000	465

Best of Bordeaux*	2	2	\$50,000	\$100,000	\$70,000	576
Brazen Beau	1	1	\$50,000	\$50,000	\$50,000	777
Victor Ludorum	2	2	\$50,000	\$100,000	\$70,000	480
Pierata	2	2	\$48,000	\$96,000	\$66,000	807
Armory	11	10	\$46,450	\$464,500	\$130,000	958
Reliable Man	4	2	\$45,500	\$91,000	\$65,000	706
King's Legacy	3	3	\$45,000	\$135,000	\$85,000	590
Derryn	11	10	\$43,100	\$431,000	\$120,000	800
Ancient Spirit	1	1	\$40,000	\$40,000	\$40,000	579
Yes Yes Yes	2	2	\$40,000	\$80,000	\$40,000	959
Ace High	14	11	\$35,591	\$391,500	\$150,000	826
Hanseatic	2	2	\$35,000	\$70,000	\$50,000	907
Hitotsu*	1	1	\$35,000	\$35,000	\$35,000	688
The Bold One	1	1	\$35,000	\$35,000	\$35,000	862
The Chosen One	4	3	\$31,000	\$93,000	\$60,000	902
Preferment	3	3	\$30,500	\$91,500	\$80,000	852
No Nay Never	3	2	\$30,000	\$60,000	\$35,000	798
Vanbrugh	5	5	\$28,600	\$143,000	\$90,000	79
Banquo	3	3	\$27,333	\$82,000	\$40,000	860
Santos	10	9	\$22,778	\$205,000	\$70,000	935
Swiss Ace	3	3	\$22,333	\$67,000	\$40,000	889
Divine Prophet	7	6	\$22,000	\$132,000	\$35,000	896
Ribchester	4	4	\$21,250	\$85,000	\$47,000	871
Lean Mean Machine	1	1	\$16,000	\$16,000	\$16,000	941
Ferrando	3	1	\$13,000	\$13,000	\$13,000	967
Time Test	2	2	\$12,500	\$25,000	\$20,000	919
Eminent	5	4	\$12,375	\$49,500	\$27,500	886
Zed	3	1	\$11,000	\$11,000	\$11,000	926
Sneaking to Win	1	1	\$10,000	\$10,000	\$10,000	1002
Tivaci	2	1	\$10,000	\$10,000	\$10,000	880
Fierce Impact	1	1	\$8,000	\$8,000	\$8,000	726
King of Comedy	2	2	\$7,750	\$15,500	\$8,000	1008
Press Statement	1	1	\$6,000	\$6,000	\$6,000	978
Vadamos	1	1	\$6,000	\$6,000	\$6,000	932
Turn Me Loose	1	1	\$2,000	\$2,000	\$2,000	893
Cool Aza Beel	1	0				
Stay Inside	2	0				

*First season sire

Karaka 2026 Combined Leading Sires by Average (three or more sold) (as at 2 February)

Sire	Offered	Sold	Average	Top Price	Top Lot
Anamoe*	8	6	\$487,500	\$650,000	102
The Autumn Sun	3	3	\$380,000	\$525,000	485
Alabama Express	6	5	\$358,000	\$850,000	383
Justify	7	7	\$292,857	\$950,000	471
Toronado	8	7	\$282,143	\$800,000	516

In the Congo*	4	4	\$252,500	\$400,000	270
Home Affairs	9	8	\$236,875	\$475,000	147
Wootton Bassett	3	3	\$233,333	\$450,000	241
Russian Revolution	3	3	\$221,667	\$340,000	203
Savabeel	31	27	\$211,667	\$550,000	259
All Too Hard	3	3	\$206,667	\$380,000	369
Spirit of Boom	4	4	\$206,250	\$325,000	461
Harry Angel	4	3	\$196,667	\$310,000	245
So You Think	12	11	\$192,273	\$450,000	410
Farnan	3	3	\$180,000	\$230,000	38
Satono Aladdin	62	48	\$178,042	\$500,000	292
Proisir	57	41	\$177,622	\$600,000	94
Super Seth	44	37	\$161,757	\$675,000	93
Maurice	5	4	\$160,000	\$250,000	400
Sword of State	52	48	\$159,010	\$1,100,000	513
Per Incanto	30	25	\$150,320	\$375,000	415

*First season sire